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Questionl:-India borrowed the idea of the rule of law from the Constitution of
A:-lreland
B:-Britain
C:-Canada
D:-Germany

Correct Answer:- Option-B

Question2:-Which of the following statements is/are correct regarding the Right to

freedom of religion?

(i) Right to profess and propagate any religion

(ii) This freedom is given through article 29-30

(iii) It Prohibits discrimination on the grounds of religion
(iv) Right to freedom of conscience and profession

A:-(i), (ii) and (iii)

B:-(i) and (iii)

C:-(i) and (iv)

D:-All of the above
Correct Answer:- Option-C

Question3:-The Constituent Assembly was formed on the basis of the proposals of

A:-Cripps Mission
B:-Cabinet Mission
C:-Wavell plan
D:-Mountbatten plan
Correct Answer:- Option-B

Question4:-Name the writ which is issued by the Supreme Court or a High Court to

an inferior Court if it goes beyond its jurisdiction in a case.
A:-Prohibition
B:-Mandamus
C:-Quo-warranto
D:-Certiorari
Correct Answer:- Option-A



Question5:-Which among the following pair is wrongly matched?
A:-Banking - Union list
B:-Forests - State list
C:-Education - Concurrent list
D:-Cyber laws - Residuary powers
Correct Answer:- Option-B
Question6:-The Article which deals with the amendment of our Constitution
A:-Article 367
B:-Article 365
C:-Article 368
D:-Article 364
Correct Answer:- Option-C
Question7:-The book 'Akhila Thiruttu' was written by
A:-Vaikunda Swamikal
B:-Brahmananda Sivayoqi
C:-Vaikunda Swamikal
D:-Vaghbhatananda
Correct Answer:- Option-A

Question8:-Name the Organisation that was founded on the model of the Servants
of India society of Gopala Krishna Gokhale

A:-SNDP

B:-NSS

C:-Yogakshema Sabha

D:-Sahodara Sangham

Correct Answer:- Option-B
Question9:-The CMS press in Kottayam was established by

A:-Arnos Patiri

B:-Rev. Mead

C:-Benjamin Bailey

D:-Rev.Richard Collins

Correct Answer:- Option-C

Question10:-Who among the following translated Shakespeare's 'Taming of the
Shrew' into Malayalam?

A:-N. Krishna Pillai
B:-K. Damodaran
C:-Kandathil Varghese Mappila



D:-E.V. Krishna Pillai
Correct Answer:- Option-C
Questionl1:-Match the following :

(@) Viswarupam 1. K.C. Kesava Pillai

(b) Lila 2. Vallathol

(c) Kesaviyam 3. Kumaran Asan

(d) Kochu Sita 4. V.C. Balakrishna Panikkar

Select the correct answer from the codes given below :
A:-a b C d

4 3 1 2

B:-a b C d
1 2 3 4

C:-a b C d
3 4 2 1

D:-a b C d
2 1 4 3

Correct Answer:- Option-A

Question12:-Name the commission that was setup to look into the centre-state
relations.

A:-Balwant Rai Commission
B:-Sarkaria Commission
C:-Kasturirangan Commission
D:-Jeevan Reddy Commission
Correct Answer:- Option-B
Questionl3:-The winner of the 2022 Booker prize
A:-Shehan Karunatilaka
B:-Salman Rushdie
C:-Maddie Mortimer
D:-Alan Garner
Correct Answer:- Option-A

Questionl4:-Name the Peasant movement that paved the way for the Right to
Information Act in India

A:-Dalit Panthers

B:-Bharatiya Kisan Union

C:-Mazdoor Kisan Shakti Sangathan

D:-Shetkari Sangathana

Correct Answer:- Option-C
Questionl5:-Hermann Gundert was a member of

A:-London Mission Society



B:-Basel Evangelical Mission
C:-Salvation Army
D:-Church Mission Society
Correct Answer:- Option-B

Question16:-Help provided by the teacher to the learners to move beyond their
current level of understanding is known as

A:-Cognition
B:-Scaffolding
C:-Motivation
D:-Inspiration
Correct Answer:- Option-B
Questionl7:-Advance organizer model of Teaching was propounded by
A:-Howard Gardner
B:-Alfred Binet
C:-David Ausubel
D:-Jean Piaget
Correct Answer:- Option-C
Question18:-Heuristic method helps to develop among students the attitude of
A:-Drill and practice
B:-Silent listening
C:-Discovery
D:-Rotememorisation
Correct Answer:- Option-C
Question19:-The term micro-teaching was first introduced by
A:-D.D. Tiwari
B:-John Hattie
C:-Robert. N. Bush
D:-Dwight W.Allen
Correct Answer:- Option-D

Question20:-Who among the following has not involved in developing the
classification system of the three domains referred to as Bloom's Taxonomy

A:-A.S. Neill
B:-E. Furst

C:-W. Hill

D:-M. Engle Hart

Correct Answer:- Option-A



Question21:-5_{;_<Y"; nen cratipmed, B @6t @GepmbHUL FID 6TetTEn?
A:-1
B:-1/2
C:-2
D:-@eummle ergLilereney
Correct Answer:- Option-B
Question22:-19emeu(meuaieuphled SenTddlLdanlqwl CemELiy erg)?
A-nxw
B:-(0, 1)
C:-rxr
D:-@eummle ergLilereney
Correct Answer:- Option-A

Question23:-jw=s2-3z+5 CFwerun(® HsRE@HD @ Cleuafl eremen?

C:-[4]

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question24:-9emeu(pLd Fadmisateh 6rg) seummen iMGms?
(i) Swengg @elbs CSTLFsHEHD eurblL it (heTeTer
(i) Simansg CorCarmGLreafls cuflenss@pbd eerleaneamThsean e
(iii) iemarsgl Lo L auflengs@hid eemmlenentbseney

A:-(i) womid (ii)

B:-(i) wmmid (iii)

C:-(ii) wpmibd (iii)

D:-(i) G

Correct Answer:- Option-C
Question25:-19emeu(meuemoupiled mml L CsTLif erg)?

A
B:-y 2



C:-25%

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question26:-@\gl 1-:)* &G &FLWD?

Ai-1-3i

B:-1+3

C:--4

D:'4?,

Correct Answer:- Option-C
Question27:-Yemeumeuameudmled LGLLITIGY Sjderg ClFweum( erg?

A:-c-

B:'sinz

Ci-iz2

D:-coshz

Correct Answer:- Option-C

Question28:-£y,(%) = eretin uens@a(y swarumigen, euflang, g Hf eramen?
A:-2, 1
B:-3, 2
C:-3,1
D:-2, 3

Correct Answer:- Option-A

Question29:-viz—zdy=0 eTETM EUMSHES (LY FLOGTUITL Iq 60T 6(HBISEHETEGLD STt 6rg)eUms

Q&S (pigwing)?

Correct Answer:- Option-D

Question30:-2y 42,42 — o erany eUaEE &Y FOETLIT 1q 6T ST6 cTemen?
A:-cit(caztes)e?s

B: -cie¥+cyrettcgels

C: -(c1+egm)edstcge®



D:-@laummled ergLsldbeney
Correct Answer:- Option-A
Question31:-erhs auansbsp Fwarun(h CrrGsrhamends @&mbhlsHng)?
.-@_Cf

do? ™
. _d?
B.'—%:O
dr

Ci-y%=s
D:-@leaumdled ergLsldveney
Correct Answer:- Option-B
Question32:-em seanggirsdlen cpamaaillLsEn@W0 elleflbllnE G Cu o drer
Camewtd eremes?
A:-cos1()
B:-45°
C:-60°
D:-@eummle ergLilereney
Correct Answer:- Option-A
Question33:-i=s7+y7+:% eTarllv div 7 ereumedt
A:-0
B:-/zzrvzt22
C:-1
D:-@eummle ergLilereney
Correct Answer:- Option-D
Question34:-'C' eremmmed Y 61(p5815@E @ aneantiner Gam(h eretle [ﬂx:y)dx:
A:-1
B:--1
C:-0
D:-@eummle ergLilereney
Correct Answer:- Option-C
Question35:-fm:{xjﬁfj;’;fgl ereom ClLmenwefley 2 eter Semarsg Laraflgefgid
Cewdur(® Qgr_fsslwng @QmbsTe Yemeuheleamaunifled ergl Ffluimeang,?
Ai-atb=1

B:-a,+b:2



C:-atb>0
D:-a—i—b:O

Correct Answer:- Option-B

Question36:-u=tan122Y eTEmmTed =5:+v3: @i I eTemem?

A:-Ztanu

B:-tan2u

C:-sin2u

D:-@eummle ergLilereney
Correct Answer:- Option-C

Question37:-Yemau(meueeudiled 6rgl Seummens)?

g2r—1

(1) 1t ofz=2

(i) e, 022 =0
(iii) tosee=0
A:-(ii) wl_(Hid
B:-(i) w_ (b
C:-(ii) womd (iii)
D:-(i) womibd (iii)
Correct Answer:- Option-A

Questi0n38:'7]7ex+y+zdxdydz:?

A:-(e-1p?

B:-es

C:-e

Di-es1

Correct Answer:- Option-A
Question39:-244=1 erenm Bereul L Glem LliLiemey

A:-r2022

B:-at

C:-rab

D:-1

Correct Answer:- Option-C



Question40:-v2-ss—6y—23=0 6T FLOGTLML Iq 6T GUMTLIL LD 6TensS GMEH M) ?
A:-Ueuemeruid
B:-Baraul Lib
C:-emanuGumeor

D:-@eummle ergLilereney
Correct Answer:- Option-A
Question41:-7|x‘dx:
A:- )
B:-
C:-3
D:-gmuidleanss (plgweieene
Correct Answer:- Option-A
Question42:-s3+y3z-3=0 GTETDTE) % GTGIENT?
A:-t
B:-Zo

C . _—sz—yz

D:-@eummle ergLilereney
Correct Answer:- Option-C
Question43:-4116 Qe smyenilsatier sl (hg Cgmens cremer?

A:-11200
B:-171
C:-1710

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question44:-¢(s00) @i WS cTerer?

A:-499

B:-45

C:-396

D:-200

Correct Answer:- Option-D



Question45:-20m &9 17 o4,6d cu@Ssmed ) erevren?
A:-16
B:-0
C:-1
D:-@eummle ergLilereney
Correct Answer:- Option-C
Question46:-4=[% 1] erefled, a"=r Guimem Hlw crewr 6rg)?
A:-1
B:-2
C:-4
D:-6
Correct Answer:- Option-D
Question47:- 4=[824] Qe mraen I eraien?
A:-(1, 2, 3)
B:-(2, 2, 2)
C:-(-2, -2, -2)
D:-@leaummled ergLsldbeney

Correct Answer:- Option-A

10 2

Question48:-A_[§é §] erautled 4 @)er Hlyemrwid (determinant) eremen?
02 0
20 1

A:-0
B:--9
C:--27
D:-1

Correct Answer:- Option-C

Question49:-5=[31 2| eremp Cuol fdedlen Cyraiés eraiman?
A:-3
B:-2
C:-1
D:-@laimdled ergLsldbeney
Correct Answer:- Option-B

Question50:-4 < 75Csmaaed Gl f&en eTammme 14 cTeueU6TE|?



I+
'—I

O W >
+ O

2

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question51:-gm saEgITSSlen g LILSSAPLD 2 WFAPD elbleumammid 5 e @sHerTs
B(mHSTD NG Barld eremes?

A:-5g

B:-sv3

C:-2f

D:-sv2

Correct Answer:- Option-C

Question52:-Li@mILGCHTMEU 4323 +452-6247 & (s-1) e CUGSSTE LSS eTetmen?
A:-3
B:-21
C:-6
D:-@eummle ergLilereney
Correct Answer:- Option-A
Question53:-sin ) +coslz) @601 OSILILY 6TETENT?
A:-r
B:-2r
C:-3
D:-0
Correct Answer:- Option-C
Question54:-jw =m75z16 GlFLOUTL g6 OlL_TENLDET GTEITEN?
A:-r
B:-[2, 3]
C:-(-c02][3,00)
D:-(-c0.2)u(3,00)
Correct Answer:- Option-C
Question55:-jw=vzam=153+1 oTeNleL 9(f4) GTCIEH?

A:-9



B:-ves

C:-18

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question56:-19emeu(meusmeupiled cos26 @6 EILIL| @leveTSg) 6TEI?

A:'coszéfsinzg

B:'sin29—c0528

C:'l—Zsin28

D:-2cos26-1

Correct Answer:- Option-B
Question57:-[77%]=

A:-1

B:-0

C:--1

D:-@eummle ergLilereney

Correct Answer:- Option-A
Question58:-e(m g ibliler allFsSrssenenio (Eccentricity) 0.056 <5 @mBESTD i8I
GrdlueditiLig

A:-LiTaueneTuiLd
B:-Bemeul_LLb
C:-emanuGumeor
D:-aul_L b

Correct Answer:- Option-B

Question59:-C eraug) 1=} 2 L6l UL DTS @)(HHSTE j{%dz=
A:'Zm
B:-m
C:-0
D:-Glaumdled ergLsldveney
Correct Answer:- Option-C
Question60:-19emelmeusmeupiled eTg) Lsyw sewrd (empty set)?

A:-{zreN3<s<4}



B:-{rrenz2=1}

C:-{mzeNs2—4=0}

D:-(zzenz+1=0)

Correct Answer:- Option-D
Question61:-em Caiailer 100 wmemreufs@hs@, srmafluns 55 wUGlLemT. idls
waHlGuearser GQupm 30 Cufler syrafl wHLCLT 70 Ysa|bd, GmDHS WS LG LITSET
Qumm
30 Gufler grmafl wHLGUT 30 Ysa|b G)(HHSTED, BSHUpETaT mawTeuTsaften Frmaf
GTGTGOT ?

A:-55

B:-62.5

C:-65

D:-57.5

Correct Answer:- Option-B

Question62:-eqm wrl eT(h&@ wHlliyser 0, 1, 2,....n. wrdlger HdFbleue wpepmGu
"ConC1 Mo DG @V (BHSTED DIH6 FFTEF 6T6T60?

A:-2

B:-n

C:-2

D:-gn

Correct Answer:- Option-A
Question63:-fleneowimen edlase 2 2 e Lifeumeang Wermiq@ig.d (Platykurtic)
TMTE 46ug) WS S(HewTSdlem SILIL| cTermer?

A:->16

B:->64

C:-<48

D:-<64

Correct Answer:- Option-C

Question64:-CsmH&s UL L oo AevCLrdlpmbd Ly, GemeuhelemeuDdley 68 Seummens?

Eill




A:-@enLflena > grmaf]
B:-gynafl > @enL_bHleva
C:-qpa® > gyraf]

D:-psh > Qe flena

Correct Answer:- Option-B

Question65:-1 g 25 cueny @MEsiiul L 160 Hsaflel®mhg 4 4&6aL_(Haer FrHm
panuliled erHEHILLLTE®, 2 HMID 3 cransamers CaiblsHLILSHSTET eumiLiL

Correct Answer:- Option-D

Question66:-CLmpdler Lwamila@d 40 Gwhbassater symafl cuwig 16. BLSgierflen
cuwig CarsslILl LT, FImEfl gl (b eUHLLD HHSHEE DG, fiLIgwiTenTeD
BL_SSIEMFIGT GUUIZ| cTeoTe ?

A:-51

B:-56

C:-57

D:-61

Correct Answer:- Option-C

Question67:-1 1pse 13 auenpullemen eramrsatiean Hlenavwimen elevsed (SD) eremen?
A:-14
B:-7
C:-mz
D:-z

Correct Answer:- Option-C

Question68:-r(s)=04,r(4uB)=07 HMID P(B/A) = 0.5 Blspssaiser Har(hssluLlLTe, P4)
HTETS

A:-0.6

B:-0.5

C:-0.4

D:-0.7



Correct Answer:- Option-A
Question69:-e pErSEH® 50% Cui A ererm Gelidgsmenerls L sHpriser, 40% Cuiy B
ererm Qeldgsmenerl) LgsHpriger, 30% Cuiy C eremp CeswlidldsreneTis LigsSHDmiaErT.
30% Guiy A bpmibd B Aeswuidlssrersaneryd, 20% Cui AC Aawiglssretsaneryd, 10%
Cug BC Qawiglssretasamerid Lig&Snriser. ibs 2erfled 25% Cui Qbs CFliglssmerser
TG WD LilgLiLdleveney. SiLliLiiquineme eperm GFliglsgrarsaerun (A, B, C) crdseaner
ggeigd GUT UG SHDTIHET?

A:-25%

B:-10%

C:-20%

D:-15%

Correct Answer:- Option-D
Question70:-3 srager ClameT_ e enLiudled e Brewrib @ @wUmapd H. ibsl entiulley
@®BS e Brewrwid TCsFmFWING eT(H&SULL(H BT, (Lpepm Gddl ermlulii’ L gi.
Briser pren@ wpepwbd H gt Quipmmed, grédl erdludinl L prasruid @@ynpd H s
Qs Hlepsse.

Correct Answer:- Option-B
Question71:-em au@liled 30% amsEnd 70% CuemrsEpb 2 ererary. 5% <y amrser
oMb 10% Querger e Caraled e HCr{H GupmeTeTeny. Sibs @GN QBB 6(H
Gwbas CaIHOsHESILL LT, ABS GLhang o SCrH CubMmliughaTear Hspsse]

A:-0.085

B:-0.065

C:-0.075

D:-0.15

Correct Answer:- Option-A
Question72:-gm enuiudled 30 Houtiy, 20 ugens wHMID 10 B LBFIFET 2 ctarar. epLufled
Bobs e® U TOEsLLLE g Bipsmss GOUEALE Snuds sruu@n. Qe
3 wem QFIFTD, mansg LBgsEHD telcuGaum Hlnmseaid @) Mmss Hapsse,.
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S

Correct Answer:- Option-C
Question73:-e(m samreuad wenamellu|bd eCr Lugeiluie 2 sradlud_misErsE CrrLpss
Careiler sevbg Csmardlearment. wanaral CaIbOsHSSUILLLSNE 2/7 LHMILD &HewTesn
Caibs(hsslulLgnE 1/4 Hlapssey o arerg. jeufsete emeur L (HGW
Caibls(H&siu(peusnsTer Hlapsse,?

C:-%

D:-%

Correct Answer:- Option-B

Question74:-jw=csme , 0<z<co TG HlEDRSSH6 LTS Geweuim( eremmmed 'C' @)eir
1L eTetten?

A:-1

B:-n |

C:-I'n

D:-%

Correct Answer:- Option-D
Question75:-Geaumm Humeushsrer Hlaspsse) 0.7 %5 QMEGD HlEpsse Liraladler
rmium( eresen?

A:-0.21

B:-0.3

C:-vom

D:-0.49

Correct Answer:- Option-A
Question76:-gqm ErHm Ml x &@ syrefl 3 wHmID wrmur® 2 QEBSTED, B[(x+2)]
GTeoTeuT ?

A:-11

B:-27

C:-23



D:-13

Correct Answer:- Option-B

Question77:-x gm &ydm M eTermmed # x—sx] GOILILS
(|) Var(X)
(ii) mbx)

(i) @repr_reig) el HHewTd
A:-(i) wpmid (ii)
B:-(i) womb (iii)
C:-(i) L @b
D:-(i), (ii), (iii)
Correct Answer:- Option-B

Question78:-r(x)r(x?),5(%) e 2 aTem X Grewr_Ld wrdl UMM 6THS AMEMSEHET 2_HTenLOUINTS

Q&G
(i) B(x?)>[Bx)
(i) & ()<E(XJ

i) =Gy

A:-(i) U @b

2)

B:-(i) wmmbd (ii)

C:-jamansgid (i), (ii), (iii)

D:-(i) womid (iii)

Correct Answer:- Option-D
Question79:-X whmid Y yHm wridlser eresrmmed Weme(meuemeudmled erg erliGLima b
D _GFTEHLOWITS @ (HEGLD?

A:-B(xY)=E(X)E(Y)

B'E‘(%):M

E(Y)

C:-B(X+Y)=E(X)+E(Y)

D:-g(x)= [ [1-F@)]ds
!

Correct Answer:- Option-C
Question80:-1 w6 25 cuenpulerer ewrl Lifl . (Haafler @mbg 5 CoHrymuTs
Caipaghssiiu@dlemer. QupliLLL eaarsaier gl (Hs0smens ErHm wrhHure ThSss

QamaTeriLi’ L med, g6 FFmEfl HMID WrTmILIT(H eTeme?



A:-65, =0
B:-62.5,%
C:-65, &
D:-50, &©
Correct Answer:- Option-A
Question81:-amjumm FrHm wrhser X LHMIL Y g Hwemen wperpCu sxmafl 10 wHmib
20, wrmiur@® 3 wHmID 4 PHweuhenns Camerriy BT 4X + 3Y @6 wrmuim( eTeme?
A:-340
B:-100
C:-84
D:-91
Correct Answer:- Option-C
Question82:-X ~ B (s1) Y ~ B (2}) erafléd P(x+v=2)=7
A:-%
C:-&
Correct Answer:- Option-B
Question83:-X ~ B (11}) erermmed emeumeuameupmled X Lib 6rg) 2 ewrenio?
(i) P(X=3) = P(X = 4)
(i) X @uenr(h (pevmaamerd Glsmea(hererg)
(iii)vix)=2
A:-(i) womid (ii)
B:-(ii) wmmid (iii)
C:-(iii) (b
D:-oiemanggbd (i), (i), (iii)
Correct Answer:- Option-D
Question84:-&rmm wmrl X (1, 21) Qe Ceuafluledy GFsueusls LiFeuames CaTeT (HHSTE®
X @er @enL_blena
A:-10
B:-21
C:-11



D:-10.5
Correct Answer:- Option-C
Question85:-Gmweir CmearCriigmi umbiager (Mgf) unml GereumeuaTaimdle ergi
2 GHTEHLD?
(i) mgf @@m&E0D e FTHm WIH DTS &(HERVBIGEMETULD OlETERTIY (HEELD
(i) smewThsaT @ M&EELL @@ From wrl eeubeurm Leraflulaib Mmgf = drerg
(iii) mgf e AEICLTsSms safllsgleunrarsns SiomeaflsEh
A:-oemenggi (i), (ii), (iii)
B:~(i) ol (b
C:-(i) womid (iii)
D:-(iii) w_ (>
Correct Answer:- Option-D
Question86:-P (X = 1)= 4 P(X = 3)+40 P(X = 5) & Limiiaorer GeaumLim() eraman?
A:-1
B:-»
C:-2
D:-
Correct Answer:- Option-A
QUESLION87:- fiz)= Lo, —co<noo GTGIIM FLOGTLITL g 6T LITEU Lo

XX, eTerfled Xi+2X%; efl@enl W LFeUed cTemen?

A:-N(0,20)
B:-N(1, 12)
C:-N(1, 20)
D:-N(0, 12)

Correct Answer:- Option-C
Question88:-e(m auELiled 2 e GlpBHangsaten syraf 1Q 90 @psa|b, Hlanewirer
clevgd 15 ysa|b QHHSTED, TESmaT F56ISD GWhagser 60 (psd 120 cueny 1Qns
Q&g (HLILITTSET?

A:-68.26

B:-95.44



C:-99.73

D:-94.54

Correct Answer:- Option-B
Question89:-X wpmid Y @er wrmur(® wpernCGw 4 woHmibd 9 ,seLd
SjaupmisdenLCuwner QgmijL 0.4 &6 b @HHSTL Covxy)=?

A:-14.4

B:-12

C:-2.4

D:-3.6

Correct Answer:- Option-C
Question90:-100 @imgsaia 10 Gbmgsaier wrdlfl SRS wpanmule
Caimbls(H&sIUHeusSHSTET HlEDSS56. cTeime?

A

B:-mes

C:-3

D:- &

Correct Answer:- Option-B
Question91:-9ag7-GpFwer ereGame b Weareumb wELILiHsale org
serPlwiiul L g)?

A-umrul_gwHng|

B:-&ymeng

C:-genbgLULs wrmum(
D:-Gumg)omeng,
Correct Answer:- Option-D

Question92:-t ererrug) ¢ @ e Flaneowiren wHUISL s @QHBSTE LeTel(helareuD e erg|

2 euTenLD?
A:-i2 eremig) o2 LTl
B:-t ererLigy 52 OTIE0
C:-veremiig) o mdled

D:-@enau ergle|lebene



Correct Answer:- Option-A

Question93:-x,x, x5, X0 YFlweney FTFLUHOHNOY  LOTHIGET. s:ix? cTatleb s @6 (LpasH = ?
A:-8
B:-9
C:-10
D:-6

Correct Answer:- Option-A

Question94:-wrdf sjere] uflusns (>30) @msEw Cung t NEIGCLITSD 6Ths
MBCwWrss5Sn@E CFwdng

A:-a08 cvO&muT

B:-F

C:-Carélwesr

D:-Caradl
Correct Answer:- Option-C

Question95:-x,x;%s... %, gmiuHD NEy wrPlsar erenpred > X Qe mgf eramen?
A:_(l—Zt)%
B:'(1—2t)_%
Ci-(1-2)
D:i-1-%

Correct Answer:- Option-B

Question96:-U~F () erafled n—co V = 9F &1 Ligeue) eremen?

Ar-vg

B:-vf,

C:-F(9,30)

D:-F(n9)

Correct Answer:- Option-A
Question97:-x,x:... X, eTarLgl r=2 2 L & Umlger Lifeuadled @mnbg) i.i.d wrlaser <@L
S=Xi+Xp+. +X, GTEIDMO N = 75 48 @QmE@D Cumg S 6 LiFeueD

A:-P(2)

B:-N(75, 150)
C:-N(150, 150)



D:-N(0,1)
Correct Answer:- Option-D

Question98:-tee=6 e LMW SHIFICHTETTS @) (HHSTL FTSHWILDTET WOTHM)
S(MHEICHTETSHET 6T 6TevTEnt&Hens

A:-1

B:-3

C:-2

D:-4

Correct Answer:- Option-B

Question99:-Caweaid osl1 el L ACsagen 6o (Helameudmled cTHeiL 6o
QamFyenLuwig)?

A:-auens | 9enLp
B:-cuens Il Genwp
C:-auens | pmibd I enpser
D:-@enau ergla|wlcbene
Correct Answer:- Option-A
Question100:-KsTCeuny <SG Wemalmeuameunmdled eTgen e ClSTLTLienL_wig)?
A:-auens | Yenip
B:-Qeveueh oot Hdails ol ACH a6
C:-auans Il Genip

D:-@lenau ergle|dlebene

Correct Answer:- Option-C



